21

x+3

6

x+5

x2+x

x2+3x—10

Tx—9

x24+3x—10

x4+ x+12

x2+3x—10

x4 x+1
x2+3x—10

x2+3x—10

CSTOM9S
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Released Test Questions

— 10 —

23,2 x2 4+ 4x x2 -9
22| Which is a simplified form of ﬂ? 25 °— =
(a=1b2¢)? x+3 x*+x-—12
5
A 3a A 1
b3c3
B @ B «x
o5
3
C RN C =x+4
+3
D — D =
ab’3cd x—3
CST00267 CST10043
—4 -3
23| What is 20x TR 8x =2 26| What is the simplest form of
27y 15y~ 5x3y+20x%y? + 20xy*
3 Sxy .
A 3821y
X
A (x + 2)2
B 32 - B (x + 2y)2
81
Xy C x2+y
c 25y° D x244y?
18x
CST10049
D 25
18xy’ ,
> 202 —10x  4x+16 _
x2 +8x+16 x*—25
8x
2 _ A —
24| Which product is equivalent to 4716, (x+4)(x-5)
—x
B 2x+4
A 4x-=2) (x+4)(x+5)
B 4(x+2)
C 8x
C —4x-2) (x+4)(x+5)
D —4(x+2)
CST10041 D 2x + 4
x> +20
CST20307

This is a sample of California Standards Test questions. This is NOT an operational test form. Test scores cannot be projected
based on performance on released test questions. Copyright © 2009 California Department of Education.



Released Test Questions

CALIFORNIA STANDARDS TEST

Algebral ll

4 oy
28 (x+7) =+ 2x—2y = 30| If i =+—1, what is the value of i*?
5x%y3 10
A i
4
A - 53 B —i
X7y
C 1
B 243 D -1
x%y
4
c - 2 (3x ‘H’)
2y} (x—y)
4x+ y)z 31| Which of the following complex numbers is
D 52,3 represented by the point on the graph below?
X7y
CST20308 .
Imaginary
F 3
7
29| If i = v—1, which point shows the location of :
5 —2i on the plane? .
Imaginary 1
A < .
Z ‘-765-43-21_101234567'Real
; 2
A 5 -3 i
4 -4
348 5
2 6
! c 7
:"8'(:5'4'32'_10 o3 ss s o | Real y
L D
. .
i A 443
s .
:_6 B 4-3i
’ C 3-4
"8
°y D 3+4i
A pointA
B pointB
C point C
D point D

CST00510

This is a sample of California Standards Test questions. This is NOT an operational test form. Test scores cannot be projected
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Released Test Questions

32| If i =+/—1, then 4i(6i)=
A 48
B 24
CcC —24
D —48
33| What is an equivalent form of 7 ?
l
A 3—1
4
3—i
B
5
C 4—1
4
D 4—i
5
34| What is the product of the complex numbers

(3+1) and (3—i)?

A 8

B 10

C 9-i
D 10-6i

CST10038

35| If i=+/—1 anda and b are non-zero real
numbers, what is ?
a+ bi
A a+ bi
a? + b2
B a—Dbi
a® + b?
a+bi
¢ a* —b?
a—>bi
D a? —b?
36| Which expression represents
(=3 —2i) —(—5+1i)?
A —-8-3i
B -—-8-—i
C 2-i
D 2-3
37| What is the sum of the complex numbers

(12 —5i) and (=3 + 4i)?

A 9—i

B 15-9
C —-16+63i
D 9-9

CST20301

This is a sample of California Standards Test questions. This is NOT an operational test form. Test scores cannot be projected
based on performance on released test questions. Copyright © 2009 California Department of Education.



What are the solutions to the equation
x2+2x+2=0?

x=0x=-2

x=0;x=-2i
x=—1+ix=—1—i
x=—14+2V2;x=-1-22

o O w »

CST0014

39

What are the solutions to the equation

o3
x* x
A x=§+£;x=§—£
2 2 2 2
B x=3+§;x=3—§
2 2
c go3.YB3. 3 B
2 2 2 2
D x:3+§;x— —@

CST00197

There are two numbers with the following
properties.

1) The second number is 3 more than the
first number.

2) The product of the two numbers is 9 more
than their sum.

Which of the following represents possible
values of these two numbers?

A —6-3
B —4,-1
C -14
D -36

CST20008




